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WALT use reasoning and problem solving skills
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Answers
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9a. Complete the calculations.

3x4= L 30x4= |:|
bx4= 4x60= |:|
3x8= [ 3x80= |:|
8x4= 400x 8 =

@7 — ”
10a. Which number sentence matches

the array?
a.3xé

\JGD? VE

9b. Complete the calculations.

bxé= L 60xé= L
8x8= 8x80=

5x8= [ 50x8= [
3xé= M 300x 6= M

10b. Which number sentence matches
the array?
a.30x8 b.8x3 c.30x80
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Reasoning 1

Erica has written some number sentences about a fact family, but
she’s made a mistake.

Find and explain her mistake.

2x8=16 20x8 =160
8x2=16 80x2=1¢6
16+8=2 160=+80=2

16+2=8 160 +2=280
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Reasoning 1

Erica has written some number sentences about a fact family, but
she’s made a mistake.

Find and explain her mistake.

2x8=16 20x8 =160
8x2=16 80x2=1¢6
16+8=2 160=+80=2
16+2=8 160 +2=280

Erica has made a mistake because she has put 80 x 2 = 14.
We know that 8 x 2 = 14, and we know that 80 is 10 times bigger
than 8, so the answer also needs to be 10 times bigger.

! The correct answer is 80 x 2 = 140.
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Greater Depth
9a.

10a. c. 300 x &

3x4=12 30x4=120
6x4=24 4 x 60 = 240
3x8=24 3 x 80 =240
8x4=32 ]400x8=3,200

Greater Depth

9b.
6x6=36
8x8=464

60 x 6 =340
8 x 80 = 640

5x8=40 50 x 8 =400
3x6=18 [300x6=1,800
10b.a. 30 x 8




